
Placement Test 
1.        8   2.  10  3. 17  4. 18 + 7 = 
         +  3                 -   7             +  5   
 
 

5.       18 – 9 =  6. 18 + 24 = 7. 142  8. 4006 
                   -  59   - 287 
 
 
 
9.     6,247.8  10. 63  11. 9 x 7 =   12.  .12)195.97 
           -  368.24                48 

     77.2 
     53 
              + 19 
 
13. 200 x 40 =   14. 23.5 x 17.003 = 
 
Look at the number below and then answer the following quesƟons about place value. 
 

10,759,863,422 
15. Which number is in the Ten Thousand column? ________ 
 Which number is in the One Hundred Million column? ________ 
 Which column has a zero in it? ____________________________________- 
 

16. ଶ

ଷ
−

ଶ

଺
=  17. ସ

଻
÷

ଷ

ସ
=  18. 3

ଽ

ଶସ
+ 2

଼

ଵଶ
= 

 

19. 6
ଵ

ଷ
× 2

ଵ

ଶ
=  20. How much is 20% of 870? _________ 

 
21. Write 38% as a decimal number. ___________ 
 
22. Write 45 cents as a fracƟon. ________________ 
 
23. −8 + (−15) = 
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Answer the following quesƟons.  Reduce your answers down to the smallest possible 
denominator. 

24. −
଺

଼
÷ 3 =   25.  −4

ଷ

଼
× −2

ଵ

଻
=   

 

26.  Circle the bigger fracƟon.   ଷଶ

ସହ
   𝑜𝑟   

ଶ

ଷ
 

                           
Solve for x or solve the equaƟon. 
 
27. 𝑥 − 12 = 144    28. 3𝑥 = 24  29. 5ଷ + √121 =         
  
30. 𝑥ଶ = 64   31. (3ଶ − 3) + 8 × 4 ÷ 2 − 1 = 
 
32. 2𝑎𝑏 + 3𝑎𝑏 =   33. 7𝑎ଶ + 𝑎ଶ − 2𝑎 = 
 
34. 2𝑥𝑦 × 8𝑥𝑦𝑧 =  35. 3𝑎(4𝑎 + 9𝑐) = 
 
Answer the following quesƟons about a line with coordinates (3, 6) and (6, 8). 
 
36. What is the slope of that line? _________________ 
 
37. What is the y-intercept of that line? _________________ 
 
38. Write a linear equaƟon for that line. __________________ 
 
39. If you were to graph that line, would the line go uphill, downhill, flat or verƟcal? 
 
40. Find the circumference and the area of the circle below.   A = _________ C = _________ 
 
 
          2” 
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41. Name the relaƟonship between the two lines.  Are they parallel, perpendicular, 

perimeter or neither. 
 
 
 
 
 
 
 
 ____________________________ ______________________________ 
 
42. What is the length of the hypotenuse in the right triangle below? __________ 
 
 
                  6” 
 
      8” 
 
43. Name the three special triangles below. 
  
 
 
 
 
 
 
        ________________        _______________  _____________ 
 
Use the Pythagorean Theorem to solve for x in the two right triangles below. 
 
44.      45. 
 1 meter 𝑥           12 km √400 km 
km 
  800 𝑐𝑚                  𝑥 


